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P1for48+6
P1 for a complete process to find either A or B
Al
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M2 for 8 x 50000 = 100 = 1000 oe
or

M1 for one correct stepjfrom
8 x 50000 + 100 000

698 x 50000

o their (50 000 = 100...) x 8

eg.05x8

Division by 100 000 may be in
stages

M1 may be implied by 400 000, 0.5
or 0.000 08

Need to see the calculation for e.g
their (50 000 + 100...)
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9 [(a 22 2 |Accept212t022.8
M1for5.3t05.7 [cm] seen May be seen on diagram or on the
Or 53to 57 [mm] seen answer line

9 () 06310067 1 Condone eg 65

9 [ Lighthouse indicated correctly 2| M1 for either condition correct Allow unambiguous indication if

4.3t04.7 cm from P
and
on bearing of 198 to 202 from Q

cross is not seen
For M1 allow an arc/circle centre P
with radius 4.3t0 4.7 cm

Use overlay as a guide
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Line drawn parallel to AB, 1.8t02.2
cm away that meets AD and their
bisector of angle BCD

Bisector of angle BCD drawn with
correctarcs

Arc centre D with radius 2. 8to 3.2 cm

Correct region shaded

M1

M2

M2

A1l

M1 for correct bisector with no/incorrect
arcs

M1 for any arc centre D

Dep onM1M1M2

Condone dotted lines throughout
Use overlay as a guide

If no angle bisector their horizontal
line must atleast touch the left hand
boundary of angle bisector overlay

*2°
Arc must meet AD and DC for 1 or 2
marks

Accept region clearly identified
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23 [ (a) 180 =35x112=576 M2 for 180 =35 x 112 For M marks allow figs used
or or 180 + 3.5 and 576 = 11.2 eg M2 for 18 =350 x 112
180 +3.5=514[.] or576 =180 and 11.2 = 3.5 If in two stages
and or For full marks, condone premature
576+11.2=514[.] rounding if accurate and answer is
or M1 for stated as 576
576+180=3.2 180 + 3.5 501 51.4[...] e.g. 3 marks for 180 +3.5=51.4
and or 576 = 11.2 501 51.4[...] and 51.4 x 11.2 [= 575.68 or 575.7]
112+35=32 or 576 + 180 50i 3.2 =576 (required)
or112+355032 eg M2 for 180+ 3.5=51.5 and 51.5
x11.2=576
Accept equivalent methods eg
divisions inverted or correct use of
lengths in other units:
(b) No oe and correct explanation Bifor 180~ kx 112where k> 3.5 | For full marks, clear conclusion and
leading to answer <576 an explanation earning B1 is
or needed
[180+3.5=]51.4... and 180 =k k>
3.5 leading to answer <51.4(...) [180 = 3.5 =] may be referred to in
or (a)
Each cm on the map will be worth
fewer km in real life oe
© 7500 cao M for figs 18 = figs 24 soi figs 75 If units included in answer max M1
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19 | (a) 6107 to 632.2 B2 for 1425 to 1475
or
Bifor 11410118
or
M1 for their length x 125
AND
Bt for2},2[h| 20 0r2.33...or 140 | See additional guidance
and
M1 for distance - time This calculation must be seen and
distance must be their measurement
and or their measurement x 125. You
A1FT ft for a correct answer for their | must be convinced that it is a time
length as a divisor.
(b) ‘accept any correct reason e.g_ it If more than one choose the best
may not have flown in a straight line one. Comment about distance only,
or it may have been diverted see list of exemplars.
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20 | (a) Accurate angle bisector with 2 pairs 2 | B for correct bisector with no arcs or | The bisector does not have to go
of correct arcs incorrect arcs through A but if extended it must go
through A and it must lie within
green lines in overlay. For 2 marks
condone intersecting arcs of equal
radius, one centre B and the other
centre C for the construction with
bisector drawn
Arc centre C radius 7em 2 | B forarc centre C with incorrect For arc, measure radius using ruler.
radius
tolerance + 2 mm and £ 2° for both
Correct region indicated 1Dep | Dependent on at least B1 for bisector | constructions
and B2 for arc
(b) accept any correct assumption 1 If more than one choose the best
e.g. Road[s] is not/are not straight, one
road AB is busier than road AC, see list of exemplars
land is not suitable for construction
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20 | (a) Accurate perpendicular bisector 2 | B1 for accurate perpendicular bisector | Tolerance +2mm
from at least AB passing within
3cm of C with two pairs of correct
arcs

Arc centre C, at least from BC to 2 B1 for any arc centre C
CD with radius 3cm

Two correct points marked 1 | Dep on B1 (bisector) and B2 (arc) scored
intersecting the line and the arc above
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(b) One of the points is not in his 1 [ accept any correct reason e.g. one point
garden or only one is in his garden is behind the CD fence
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M1

Al

interpret information eg use the scale
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2]

15

' for 6 x 25000 soi by 150 000

or

B1 for figs 15 or 1cm :0.25km

and

M1 for their 150000 + 100 000 or for
their 0.25 6

©
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a Answer Mark Comments.
Alternative mothod 1
65-40r 25 M
50+ their 25 oo
o Midep
50% 100 + their 2.5 or 2000
1 nts 20 metres. ;u
Altornative method 2
80 and 130 seen M
19
80 = 4 wih 130 seen 06 6920 x 4 =80 with 130 seen
o Midep
130 + 6.5 with 80 seen
1em nts 20 metres. ;u

‘Additional Guidance

In A1, 65 - 40 unless recovered

In A1, 0,065 - 0.04 unless recovered

H

InAlt2, 0.08 and 0.13 unless recovered
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Alternative method 1

10 %40 or 400

or m

18 %40 or 720

10%40 % 18 x40 Midep | o implies M2

288000 A1 | imples M2A1

Ktchen correct decision for their area with M2
At | awarded

‘accept 300000 for Kitchen

Alternative method 2

10%18 or 180 oe

and m

40° or 1600 10% 18.% 40 and 300000 + 40

10 %18 x 40° Imples M2

or Midep

10 % 18 and 300000 + 40"

288000 implies M2AT

180 and 1875 At

7200 and 7500

Ktchen correct decision for their area with M2
At | awarded

‘accept 300000 for Kitchen
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12cont

Alternative method 3 (working in metres)

01xa0ors

or m

0.18x40 or 72

0.1x40%0.18 x40 or 288 Midep | oe impiies M2

288and 30 At | impies M2A1

Kichen correct decision fortheir area with M2
At | awarded

accept 300000 for Kitchen

Alternative method 4 (working in metres)

0.1x018 or 0018 oo

and m

40° or 1600 0.1x0.18% 40 and 30 +40

0.1%018 % 40° or 288 mphos M2

or Midep,

0.1x0.18 and 30+ 40°

288and 30 impiies M2AT

0018and 001875 A

072and0.75

Kichen correct decision fortheir area with M2
At | awarded

‘accept 300000 for Kitchen
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12cont

‘Additional Guidance

268000 and Kichen MIMIATAT
288000 MiMiAT
1040 = 4000, 16 40 = 720.and 2880000 and Becroom MIMIAOATH
4000 and 720 and 2880000 and Bedroom (only 720 scores) MiMOAOAOH
Ignore any incorrect attemp to sublrac 288000 from 300000

Any atempt 1o change unis must be corect

NB 1040 =400, 10x 18.= 180 i
400 x 180 = 72000 and 300000 - 72000 = 228000 and Kiichen MOAORD
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Any room correctly drawn to scale
or

any outline dimension correctly
drawn to scale

or

any room dimension or outline
dimension correctly scaled and
clearly related

M1

+2mm

may be on diagram

Atleast two rooms correctly drawn
to scale in correct position

or

correctly drawn outiine of plan to
scale

Midep

+2mm

Fully correct scale drawing with
correct room labels

Al

+2 mm for outiine and intemal lines
all lines must be ruled

Additional Guidance

For 2nd method mark there should not be a gap shown between rooms

correctly drawn to scale in correct position

Fully correct scale drawing with incorrect or missing room labels MIM1AD
Check original diagram for clearly related scaled dimensions it
eg 8 (feet =) 4 (cm)

Any correct outline dimension it

eg 16 (feet=) 8 (cm) or 20 (feet =) 10 (cm) or 22 (feet =) 11 (cm)

Additional Guidance continues on next page
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Bathroom
Kitchen

Bedroom

Living room

Fully correct scale drawing with correct room labels
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[45,4.9] (cm) or (45, 49) (mm) M1 | measurement

their measurement + 1.5 oo
s as1e1s
;331

wzmus o 133.3..)

600 or 613(..) or (626, 627] or 5C2 1600, 660]
640 or 653.)

correct answer from their 4.5, 4.9]
(cm) or their [45, 49] (mm), rounded
ncated

m

or trr

‘Additional Guidance
600 on answer line with no working or measurement shown MIMIAT
4.7 cm measured
45+15=3 and 600 MiM1AD
0.2x200 = 40 with answer 640 (incorrect scaling method of 0.2 cm)
Measurement of 4.7 cm with answer 640

sc2

(incorrect answer for their measurement)
200, 200, 200 marked on diagram implies 4.5 and 3 [
200 x 3 without measurement shown implies 4.5and 3 [
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1:100 000

B1

Additional Guidance
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Altornative method 1

2 (em) and 10 (cm) | cenz0zem
or (scale factor =) § oe implied by 650 in working
130%5 oe
Midep

or 130 + their 2  their 10

f(18,22]and 88, 102)
650 A

SC2 (635, 665]
Alternative method 2
2 (cm) and 130 + their 2. 202cm

M

or 65
10 (cm) and their 65  their 10 Midep | +02cm

f(18,22]and 88, 102)
650 A

SC2 (635, 665]

‘Additional Guidance

Do not accept marked graduations on diagram as a scale factor

Allow consistent use of mm throughout

2.and 9.9 followed by 130+ 2 x 9.9 with answer 643.5 or 644 MIMIATH
130 %4+ 1242644 sc2
2.1 and 10.1 folowed by 130+ 2.1 x 10.1 MMt
130 % 4 (= 520) + 130 MMt
(130  5.2) 650 followed by 650~ 130 MIMo
(130 x 5.=) 650 followed by 130 x 650 = 84 500 MIMo
1:5 or 51 is oe (scale factor =) 5 Mt
130 x4 (=520) Mo
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B1 for
AC has length [7.8, 8.2) cm

AChas length 7.8, 8.2)cm

and
. . and if redrawn AB has length [10.8, 11.2]

Angle CABs [35, 39] B2 |

and

or

full triangle is drawn Angle CAB s [35, 39]°

Additional Guidance

Ignore labelling

Sides need to be ruled for B2

If ABis redrawn, it must have length [10.8, 11.2) cm for B2

Iftwo triangles drawn, the one on the given line AB takes precedence,
unless crossed out
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16.9,7.1] (om) B1

1345, 355] Bift

152

fttheir 69, 7.1 x 50

Additional Guidance

(345, 355] without sight of (6.9, 7.1]

B1B1
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Rmarked [3.9, 4.1 cm
due South of P

B1 for
R marked [3.9, 4.1] cm from P
o

R marked due South of P

o

4 (om) seen
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8a) | Library 81
8b) | 180° 81
[556.6] (cm) or (56, 60] (mm) B1 | Maybe onmap
their 5.8 x 200 or their 58 x 20 M1
(1120, 1200] Afft | ftBOM if their 5.8 x 200 correctly evaluated
Additional Guidance
(5.6, 6] can come from measurement or Pythagoras’ Theorem
Answer in correct range with no incorrect evaluation BIMIAT
5.6 % 200, answer 1160 (incorrect evaluation seen) | BIM1AO
R rryr——w BOM1ATft
3 down, 5 across, 8 x 200 = 1600 BOM1ATft
3200, 5 x 200, answer 1600 BOM1ATft
3and 5 seen, answer 1600 BOM1ATt
7 seen, answer 1400 (scale method implied) | BOM1A1ft
Answer only 1400 'BOMOAOft
Answer [1.12, 1.2] km with or without [1120, 1200] seen BIM1AQ
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Vald reason Indication that the shortest distance
&1 | between two points s a sraignt ne, but
you can't generally walk in 2 sraight line
between two places in a town
‘Additional Guidance
You would have to walk along the streets B1
There wouldn't be a straight road befween them B1
You would have to walk along and then down B1
There might be buikings n the way B1
You can' go as the crow flies B1
There may be obstaces in the way B1
8 [ tisnta sraight path in real life B1
Can'tgo directly B1
There might be buiings n the way such as the library 80
The monument is in the way 80
It not a walking route 80
There is more than one route 80
May have taken a diferent route 80
Walking is sower 80
You may need to go past the town hal 80
You might take a detour 80
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8.4, 8.8] (x 25)

M1

21,22

Al

SC1 Any given length in cm correctly
multiplied by 2.5
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Sketch of possible pentagon with
exactly one line of symmetry,
integer sides labelled,
perimeter 15 cm i

1x7cmand4x2cm

1x7cmand2x3cmand2x1cm
1x5cmand2x4cmand2x1cm
1x5cmand2x3cmand2x2cm
1x3cmand2x5cmand2x1cm
1x3cmand2x4cmand2x2cm
3x1cmand2x6cm

1x1cmand2x5cmand2x2cm
1x1cmand2x4cmand2x3cm

5 x 3 cm (but sketch clearly only has
1 line of symmetry)

B2

B1
regular pentagon with 5 x 3 cm labelled
or

(impossible) pentagon with sides labelled
eg1x11cmand 4 x1cm

or

pentagon with one line of symmery and
non-integer sides labelled, perimeter 15

Units not needed
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69.2

Bl

Pl

Pl

Pl

Al

for a correct measurement of either length or width,
eg 115 (cm) or 5.8 (cm)

for process to find actual dimensions,
eg [length] x 200 (= 2300) or [width] x 200 (= 1160)

(indep) for process to convert to metres [length in cm] + 100
g “2300” + 100 (= 23) or *1160” = 100 (= 11.6)

(indep) for process to find the perimeter,
€g"23"x 241167 % 2 (= 69.2) or
“TLS" % 24 58" % 2 (=34.6)

for an answer in the range 67.6 to 70.8

‘Allow measurements 11.3to 11.7 cm and 5.6 to
60cm

NB: could work in mm

[length] in the range 11.0 to 12.0

[width] in the range 5.0 10 6.5

NB: could work in mm

‘This mark can be awarded for the conversion of
any amount in em to m (ie not from an area)

calculations could be in cm or in m and could be
scaled or unscaled figures

SC: award 3 marks for an answer in the range
67.6 10 70.8 using measurements outside the
above ranges.
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30

M1

Al

for 12 m=1.9 to 2 cm or for a scale factor of 2.25 to 2.75 (comparing length of bus
with height of the building)

or a complete method using the height of the bus to compare with the height of the
building.

answer in range 27 to 33
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34

M1
Al

for first step in process eg 17200 (= 3400)
cao
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15

no
with
evidence

P1

P1
C1

interprets the scale for 2 dimensions on diagram or in calculations.

a complete process to find comparative figures.
no” with correct figures.
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12

P1
Al

for correct use of scale, eg 360 + 30 or 3.6 + 30
cao





